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BB FEH (o) 1.62% 102 Bqg/(cm2-cpm)
BEEH(B):1.58% 1072 Ba/ (cm2+cpm)
REHEER(r) BG: 0.18 uSv/h
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1-1 Lm| 0.18 0.18 LTD (0 cpm) LTD (26 cpm)
1| B2 I 0.18 0.18 LTD | (Ocpm) | LTD | (15 cpm)
1-3 [EmE 0.18 0.18 LTD (0 cpm) LTD (21 cpm)
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BB 6,64 X 10° Ba/ (cm®+cpm)
RESEE(r) BG: 015  uSwh B | 8A238 (&)
REFREEE YERE
FEFEITEEBG(B): 100  cpm %_E%‘
EEERERFER): 050 Bg/cm? AR
1. BEERORELEE
BMEHEE(y)[uSv/h]
F=m KEMSIm
BITE 0.15 0.15
A EE 0.15 0.15
#®m 0.15 0.15 [FH#]
pk -] 0.15 0.15 BELUER(y) ENERREICHELNT2mSVhUTTHAIE
AAREE 0.15 SEMEBRENDSIMIZHNTIO U SWhU T THBIE
FHEE 0.15 CREEICBLVT20 U SWhE T THIIE
2. BIEROREGEFE
REFLZE(B)[Ba/cm’]
EiEmRE LTD (100 cpm)
HA LTD (100 cpm) J[##)
k= LTD (100 cpm) |&@E:EL®EE(S) 4Be/cm’ LT THIE
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B LR E E40:6.64 X 107° Ba/ (cm”-cpm)
WELER(7) BG: 0080 uSv/h %mB | 8238 (&)
REFREEE e &
REFLFHEEBG(B) 60 cpm EEE
BEEEEHBRRE(L): 0.41 Bg/cm’ ER
1. ElREMOBRELUEE
BEHER(y )1 Sv/h]
E3i] REMNSIm
B 0.080 0.080
Hlm 0.080 0.080
#®m| 0.080 0.080
pk -] 0.080 0.080
ERER 0.080
HR 0.080 [E#]
A 0.080 _ BELUER(y) EWMEMRABLVTEUSWVhUTTHAZE
2. BEMOEREEFLEE
REELZE(B)[Ba/ocm’]
EfEmR T LTD ( 60 cpm)
HA LTD ( 60 cpm) J[E#%)
k= LTD (60 cpm) |EEELREE(S) 4Bg/cm’ LI FTHIE




